
Seasons vs Earth’s climate
Earth’s rotation axis doesn’t shift it’s position as the planet revolves around the Sun. The axis is tilted under a 66,5° angle in relation to it’s orbit’s plane. This causes the change of seasons during the year.
In summer not only do we have a longer day, but also the Sun rays incide under a higher angle than in winter.
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The Sun rays can incide perpendicularly to Earth’s surface only between the tropics.
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Climate zone – a region on Earth,
Where we notice similar elements of the climate (the state of Earth’s atmosphere) over an elongated period of time (usually it is the temperature, rainfall, atmospheric pressure).
Climate zones on Earth differ in the amount of Sun’s radiation (aka illumination) reaching a given region’s surface during the day. Differences in the average amounts of radiation cause differentiation in air’s temperature, but also the intensity of the humidity exchange between the Earth’s surface and it’s atmosphere.
Why is the amount of illumination dependent on the latitude? Why do climate zones look more or less like strips stretching between parallels? Deduct this basing on the text and pictures. What else is the climate dependent on?

[bookmark: _GoBack][image: ]
image1.emf

image2.emf

image3.emf

image4.emf

